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Ask students what they think statistics is.

Statistics is used to make sense of raw data
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Height = continuous

Nationality = nominal

Education level = ordinal

results of rolling 2 dice = discrete
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If you wanted to study the height of adult females in Australia, the population 
would be all adult females in Australia.

If you wanted to study the size of green ant nests on the JCU campus, the 
population would be all green ant nests on the JCU campus.

Often it is not possible to measure/count every unit in a given population

Information from the sampled units is used to infer the characteristics for the 
entire population of interest
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Research has shown that there is a strong positive correlation between ice 
cream sales and number of drownings. 

Cause effect relationships cannot be determined conducting correlational 
research.

In experimental research, when possible confounding variables are 
controlled, cause effect relationships can be determined.

25



What is the weight of Australian people?

What is the average height of Kangaroos in Australian zoos?

How motivated are JCU students and how does this relate to their GPA?

What is the average income of males in Sydney?
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• If no number is repeated in the data set, there is no mode

• Bimodal when two most frequent measurements
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What do we have to calculate first? 

The mean

39



What do we have to calculate first? 

The mean

40



What do we have to calculate first? 

The mean

What is the second step?

Subtract the mean of the sample from the measurement of each data unit 
in the sample
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What do we have to calculate first? 

The mean

What is the second step?

Subtract the mean of the sample from the measurement of each data unit in 
the sample

What is the third step?

Square each value for ࢞_࢏ - ሺ࢞ ሻ ̅
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What do we have to calculate first? 

The mean

What is the second step?

Subtract the mean of the sample from the measurement of each data unit in 
the sample

What is the third step?

Square each value for ݔ_݅ - ሺݔ ሻ ̅

What is the fourth step?

Add  up all squared values

The we can put all values in the formula and calculate the standard 
deviation.
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Mean: $855

Mode: $1000

Median: 420, 650, 770, 860, 940, 1000, 1000, 1200  (860 + 940)/2 = 900 
Q1 = (650 + 770)/2 = 710 Q3 = 1000

Range = maximum value – minimum value: 1200 ‐ 420 = 780

Interquartile range = Q3 ‐ Q1 = 1000 ‐ 710 = 290

Standard deviation: 241.07
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ORIGINAL POPULATION:

Mean: $855

Mode: $1000

Median: 420, 650, 770, 860, 940, 1000, 1000, 1200  (860 + 940)/2 = 900 
Q1 = (650 + 770)/2 = 710 Q3 = 1000

Range = maximum value – minimum value: 1200 ‐ 420 = 780

Interquartile range = Q3 ‐ Q1 = 1000 ‐ 710 = 290

Standard deviation: 241.07
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The mean

What is the second step?

Subtract the mean of the sample from the measurement of each data unit in 
the sample

What is the third step?

Square each value for ݔ_݅ - ሺݔ ሻ ̅

What is the fourth step?

Add  up all squared values

The we can put all values in the formula and calculate the standard 
deviation.

53



54



55



56



57



58



59



60



61



What can the standard deviation be used for?
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The empirical rule tells us approximately 68 % of data values will fall 
within 1 standard deviation of the mean 

95 % of data values will fall within 2 standard deviations of the mean 

99.7 % of data values will fall within 3 standard deviations of the mean 
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What does this mean? 

68 % of the population has an IQ between 85 and 115.

Only a very small percentage are highly gifted (130 and over) only around 2 
%.`
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0.5 (50 %)
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0.84 (84 %)
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Image accessed: https://statistics.laerd.com

The probability of having an IQ of 105 or less is 0.6255 (62.55%)
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Hypothesis testing aims to make a statistical conclusion about accepting or 
not accepting the hypothesis
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The mean of the population – assumed to be 6 days according to the null 
hypothesis, is the mean of the sampling distribution
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Make sure you use axis titles and a legend

Each category has its own bar with gaps between bars

Column graphs can be combined to compare data
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The area of the circle is proportional to the frequency
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Avoid 3 D

Use informative captions 

Do not overload graphs
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